Fowd - J4—)LFTER - R b5 - BBk R BHLET) No.1
bty S| o [d] ities  THCEEDOE MEMIRERAAFEASE L EROH ae ko 143708 mHE TR OB AT RE M R
L BWETIE L BERS BETKEEAS grons = RAEELBRE e 122070 | meir  BE B
] e | el s - s |1 s iR P iR P i e
09/14|BFH18 RBE +2.6[1[EHE 2t 3k - 1% 11.14 214 75eL88 2|(kEA 11.21 3 ([ EHEEEA 3|EIWLA 11.22 4180 =iE 2 =@ 11.30
100m 5% \F 3 |FyIG 11. 34 6|1EB #ME 3|KIE 11.35 TN KH#H 3 |ERE 11.35 8 [itk —E 30 11. 45
09/13|BFi8@ RBE -1.5] 1 [#:8 x5 3| F& 23.19 2 |/MEAEESD J[HRE 23.24 3|k B 3|EiR 23.43 4|RE EH J|IRAE 23.48
200m 5|ZE E& 3 |HEE 23.66 6|2EAHAEl 3|FiE 23.87 1\X\ W 3|y 24.27 #®a 5 3|xkHA DNS
WA BETEE | B PR BR 3% B 5176 |2|[B  XE 3 |FAWER | 5177 3|18 & 3 |Em .22 426 B 3% 52,63
400m AEEEER 5302 |[6|A =& 3[mAE 53.03 |7F% %8 3|ma 511 [8]am m=  3|&E 53.50
A ETEE | B TEH B0 3|RBE 70020 2[R & 3 |@% 70053 || <Mz 3R 7.:00 58 |4 ABRAD 3 |EE 204, 58
800m 51k Bt 3|REtsB 2:06.43 [|6|5H A SEEIN 2:09.26 ||7|/kBk #RER 3|BXK 2:09. 32 AR ®— 2|hed DNS
O A BT RE | B 1Bk 5% 3|2E 71239 |2|EAR B 3|PAIE 100|355 BEe 3BELsa | 2520 [1em ®E 3R -mZ | 4159
1500m 5(miE X 3 |HEiEFE 4:16.70 (|6 |&F E# 2|FHAA 4:17.87 ||7|HER FBH 3|FE 4:18.79 (|8 |5E&E B8hA%%x 3 |EFB 4:18. 96
O A BT RE | B B Xt 32H 00 62 |2|E &% 3R S0l |3k & 3 |mn 50062 [4]@A B 3|WEZE | 9099
3000m 5(Aaa &% 3(FE 9:10.96 || 6|1ESEFy ¥ 3|ATE 9:12.86 || 7|HE #1E 3|(F4IF 9:13.71 ||8[##ZE FBC 3|IXK 9:14.00
09/14|BF+8@ BB +0.6)|1 7K Kt 3 (FEE 14.75 2 |FRk B 3|Em 14.83 J|ETIl B 3 |EiR 14. 86 A1ER H£HE J[E-AE 14.97
110mH[0. 914m] HIEZS E 3@ 15.20 61 BK 3|&H 15.24 T[=ZF MFE IJ|ILFEFRE 15.33 8|55 B 3|EmaME 15. 47
WA BTESE | B =% BB 2 28 B 2 R EE 2 AR A2
4 % 100mR 11BAEX B 11FR 47.08 2|%.% =3 1|RAEE 47.94 J|FK FEHR 1 |dHHhE 48. 47 4 [/INEKHEAN 1| EXB 49.19
Sr A EH EE S T RE BE 1
Al EE 2 wo 8 2 T BA 2 A B 2
FREAS 2 M B 2 EE WME 2 HE RE 2
5|#)  $AES 1|=RH 49.23 63 aE KiE 1 |FiE 49. 56 TR Z#EX 1|=H 53.99 8|1l xt 1|FrE 54.17
2@ EA 1 22 BA 1 Tk 5 1 W mA 1
SIEA 2 R R 2 MO ME 2 B AN 2
A BTEE | B T B3 B BF 2 % mA 3 A R 2
4 x 100mR 1|18 @B 3[&R 44. 44 2|f XE 3| KHtEE 44. 45 3|&FH B 3Rt~y 44. 69 4(#8:% #3l  3|FEWLA 44.76
EnusE 3 Al FE 3 WIEAED 3 P T
w8 BE 9 N B— 3 EH KR 3 TTE R
@x &B 3 FE & 3 Ra AB 3 2% BB 3
5|28tk 3 |AmE me |6|l=m ma 3lEm 529 |7|8m B2 3|BrRe 571 |slum wn  3|Eem 45,85
I+ 3 JIOE—8 3 % #E 3 EE B 3
BB &3 i B 3 2| BE 3 B wE 3
09/13|BFi8@ BB 1|iE3 G] REE=1::] 1.82 218 Bk 3 |HhhE 1.73 3k w3l 3| EEMA 1.73 J|ER #BE J[E-#FA R 1.73
£ 5| g 75 3| 170 [6|Em BE 3|&E 170 [7]RE wE 3.8 170 |1[E% &m  2l@a 170
R R TE® ®E 2R 770 | 2|Bm %t 3R BE 70 3% mE 3| LEE 390 |4|@% =4 3| LEE 3.80
Femk S\LWEEAS  3|REtr A 380 6|k WA 2|bAkA 260 |1[mE AE 3|EM 360 |8|FEAS  2|EM 3.30
EEEEE R TEanis®  3|&R 5311 0| 2| ZEBes  3|E - BE  [6.02 N3N BB 3|ABE |65 54T Kk 3P 510020
EERE slam =5 3wl 6100 D|6|2 AB 3|bhha 60 D|1[EA & 3|Ea 6.0800.0)|[8|BEEmH 3|BrE 60309
09/14|BF 8@ RBE 1AK% %02 3[;E-@ABE 13.53 2|m@ mE  3|FHIF 12.89 J|IEA &F 3|dAE 12.51 45 EFEE 3|&iR 12.20
BRI [5. Oke] Sk A 3 |BEAR 12,00 |[6|1aB A 3| LEM 1198 |7|F W% 2|F0E 1183 |8|um EA 3|FA B 17,46
09/14| BFi8 RBE 112)Il BF  3|(hHhhsE 2740 |[2|FEE FEE 3 |FEALAR 26565 || 3|KILEKXKE 3 |FH G 25604 |[4|FEO B 3 |5H 23584
mAE slxE B 3wl 23495 |6|mE A# 3% - 2605 |7]mE =% 3|=n 2is [slas B 2|Btra | 21034




ESwvo - J4— )L FTER - R - SLERFE BFLET) No.2
R a—p [14] ek FER26EEE6SE HEMIRPERRAKREASE EBEDOR a— R 14143708 |  #uE TR R KB 25 B Bk
EfEH HWETRLBERS BETREEESR Gins = viROBEE SRS a— R 142070 | e BE &
] e | el s R P T T TR T
09/14| & F418 R +1.9(|1[a1E #WE 3@ 12. 34 2| EbME  3|ByE 12.44 3| EE ®  3|[EE 12. 60 4c#EFZE 1 |DKHEE 12.75
100m EL 5
5/hEMB%E 3|EELF 12.78 6 |1 ER 3|EHFE 12.82 T8 &4& 2 (nede 12. 96 SI/MA B 2E- AL 13. 11
09/13| & F & R 0. 1[1[#E ®m 3[E-@= 25.43 |2|BLEEE 3@z 26.03 |3|#EM =4 3|ZR 26.21 |4|/NE =@ 3 |HEA 26.33
200m 5 (XK HE B 2|FRE 26. 36 6 |#k Bre  3|h)IFE 26.49 TIE#E BF 3E-BAL 26.63 8/NEFEFEE 2 %*Ilfé 217.02
09/14|Z&F+8 SRR 1|#8@ BEAR 3|(Lt0E 2:14.19 (|12 [ZNIBEZE 2|€iR 2:16.21 ||3|&5H#H F= 3@+t 2:17.18 ||[4[iEC &40 3| Kl 2:21.33
800m 5|58 FEE 2|£R 2:22.30 ||6|tiR4iE 3|/ME 2:23.09 || 7|#% E 2iE-EALE 2:24.04 ||83RAEERH 3 |ER 2:25.76
09/14| & F 18 SRR 1 vozs—~rrsx 3|ER 4:31.51 | 2[aTE #®F 3S[E-HE 4:31.56 ||3[imFAHFER I[E-HFHLE 4:40.13 |4[ET BB 2(F4 15 4:40. 82
1500m 5|4BR E£&F 3|KkH 4:41.40 (6|8 E ER 3|&£R 4172 |7T|ZzXx BEEHE 3|FRE 4:43.15 ||8[{BIE #ME 2|F 415 4:48.70
09/14| & F 418 RE +1.51|%E% ZE  3|&R 14.34 2|/ BEF 3| LEH 14.47 3|1FHH #m 3 |&R 14. 49 AE+ B 3| LEHA 14. 62
100mH[0. 762m] 5|88 BFE 3|#H 15.13 6|EE £E 3|YRE 15.16 TIEK FE  3|RE 15.22 8I/NE EXR  2|#EmE 15. 36
09/ 14|k FIEZE | kB HAEET 2 EERRT 2 T 2 t® 2
4 x 100mR 1|1&8H #E INEEER 51.82 2\ S 1[N 52.217 J|WRIZDH 1|FF 52. 60 4% Y 1|@EE 52.80
T OEE S| |#EH F2 o1 =E = 1 =E B4
BIEEF 2 B s 2 hiE K 2 EiE EE 2
BAEFME 2 EKBNY 2 B B 2 HF B 2
5|FEF E=EE 11*FR 52.99 6 [h FE 1| 53.06 TI=ZF&FFEE 1|AES 53.10 8IiED ¥ 1|RARE 53.76
EAMES 1 wie "% 1 ME BE 1 et Bl
KAE FE 2 EEATR 2 B M2 e ABE 2
09/ 14| & F 58 R # Z& 3 hf BR 3 EEHLH 3 mH EE 2
4 x 100mR 1|#E ¥m 3J[E-AXR 49.48 2[5LEEE 3| 49. 82 J|TRE EM 3 |&R 49.93 4B EMW 2[R 50. 47
EE BT 3 INKEDIE 3 WwE @ 3 Ft1ERF 3
N R 2 ¥E  E 3 HH f2E 3 ML RE 3
N&EZthE 3 =H B# 3 % BR 2 AL EE
5|pTE HWZE 3 |EA 51.17 6|FHZLH 3 (FE 51.35 7= %A 3|KE 51.52 s|mE+ E£B 3|LEHA 55.21
SEBARE 3 ERAET 3 HE OB 3 AR BF 3
hE EE 3 ®E A 2 EK BE 2 INBABEE 3
09/ 14| & F 38 R 1| % 3[&R 1.54 |2|XE B 3|HIAE 1.54 ||3[#&ME M 3| AL . 4|F1HERF  3ILRA .
Em Bk 4178 F£E J|EELF 1.48 6|FL B 2 |HhbE 1.48 THE tiEg 2|FEAA 1.45 8(AF % 2|EH 1.45
8 |NEEmMETF 3 |EE 1.45 8|58 ®h 2UE-HE 1.45
09/ 14| & F & R 1@ B 2[WLK 539 (+0. Q)| 2 [/MlAKE 3| tEM 5100 N[3[/NE BEE  3|2R 5.00+1. 0)[[4[iE2AET  3|FR 4.83(+0. 1)
FENEBE A EERE BEL 479¢+3.0|6|x&E = 3[PINE 4.78(+0.3)|[7|2F =H 2[@=IZE [4.77¢0.7D|8|LEs EF 3|DAHHEE |4.75(+1.5
N4 T7(+1.7)
09/13| & F 418 SRR 1[EE#TH 3[E-BE 13.09 21ERELXRF IJ|LEEH 12.23 J|AE HEE 3|E-HEE 11.24 4|miE wE 3| LEH 11.00
Faxix[2. 7121kg] 5|8 EE 3|dJIA 10. 80 6|80 HMHIE 2 |XK# 10. 68 T1|EE HH 3|HhhsE 10. 38 8 |AEEF 2|@E 10. 27
09/ 14| & F & R 1% &2 3[E-@Z 26128 | 2|BH HY 3|=@ 24925 |3|LiE BF 3 |ZHA 2434 | 4|[/\F %k 3|LeH 23648
Eﬁﬁﬁ 5|5iEBABAE  3|EA 2331m |[6|AE ZEM 3| K Q01| (7@ #xF 2|=E@ 20675 |[[8[&AEB EH 3|EiR 20655
09/14| B 1t 1 A 485 |2 H & 4055 |3 DDA 2950 |14 51 4 IRy 23. 5
5 Rt r B 2145 |6 =W 205 |7 FEH 19.5:5 |8 [ 1845
09/14| L -1 & 1 & R 57 |2 H & 50. 35 [[3 &M 37 |4 ] At 26 .
5 1T 24.5:5 |6 i 1844 |7 )1 vE 174 |8 F B 144
09/14] 58 Lia & 1 & R 1054 |2 m = 90. 35 |3 EH 56. b, [[4 R 4455
5 Hrs 344 6 >/ IR} 33.54 (7 [T 28. 54 (18 ¥ E 285
REFEFYE BT B WA UESHE bohedEr) &7 VR e—~LFHR(1500m &R HER)




